[image: ]4. Using the following parent functions, write a new function given the following transformations: reflection, stretch, move left, and move down. **Answers may vary*** 
	I. f(x) = 
	
	II. f(x) = 

	III. f(x) = 
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f(x) =  over the interval 5 ≤ x ≤ 8
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10. For each of the functions below, identify the transformations made on the parent function. 
	I. f(x) =  to f(x) = 

	II. f(x) =  to f(x) =+5

	III. f(x) =  to f(x) =


11.  Annie invested $500 in to her savings account that pays 4.7% annual interest. 
Write a function to model this scenario. 
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Increcsing or Decreasing

2. Whitney invests $100 in an account that earns 3.2% interest per year.
a. Write an exponential function to represent this scenario.

b How much money is n the account after &years?

3. Describe the transformations from f{x) = 3" to gl) = 5(3)"*+ 2

1)
2)
3)
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5. What s the y-intercept of the graph below ?

. e

6. What is the rate of change for the function f(x) = 2(4)""* over the interval [2, 6]

7. The value of a car generally decreases over time. Declan buys a car for $20,000. After 1
Year, the car is worth 18,000. After 2 years, the car is worth 16,000, After 3 years, the
caris worth 14, 000. Write a function the describes the relationship ?

8. The population of Harrison High School is 1600 students. Based on the growth of the
‘population in past years, it is estimated that after 1 year the population will be 1920
Students. Similarly, after 2 years it will be 2340. Wite a function that describes this

relationship.
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9. Given fix)=¢

" and g(x) =-3(4)" + 2. Describe the transformations performied on f(x} to get
BIx). Also, that is the asymptote for each and how did it change.
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Given the function 320(.32)", determine if this function madels growth or decay and
dentify the percentage of that growth or decay.
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The population of the city of Kennesaw increases by a rate of 8.4% a year. When the
2010 census was taken, the population was 668,078, Assuming the population will
continue to grow at the rate, predict Kennesaw’s population in 2019,
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Given the graph of f{x) below, what s f(2)?
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